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COMMON QUARTERLY EXAMINATION - 2024-25

Time Allowed : 2.30 Hours] MATHEMATICS | [Max. Marks : 100

PART - |

Choose the correct Answer, 10x1=10

The sum of the digits of the denominator in the simplest form of 151228 is

a 4 4 b) 5 c) 6 d 7

3 S A\

ri ( 82 ) |

S 2 15 15

a) g 70 g 0 3 d 5

Closure property is not true for division of rational numbers because of the number -—-—

a) 1 by - c) O )

is added to get 252 : . s

a) 4 b) 52 . c) 62 , .d 7

(-2)* x(-2)*= s ;

a) -31? b) . % o 32 q 32

Area of a Circle

a) mnr? "b) 27 c) VYamrz . d 2nr?

The product of 7P3 and (2P?)%is 3 : )

a) 14pP% b) 28P7 c) 9PT y d) 11P®

+ 3I_bh3
a?-b? = o ,

@) a’-ab+b? 'b) a?+ab+b? . c) a*+2ab+b? d) a*-2ab+b?
“Two SImnlar triangles will always have -----——- angles _

a). Acute -+ b) Obtuse ~¢) . Right.. d) Matching A

The number of conversion periods in a year, if the intereston a pnncupal is compounded every two
- monthis D €7k

a) 2 by 4 . ©c 6 d 12

Fill in the Blanks. ,
The Multiplicative inverse of -1 is ‘

The one digits in the square of 77 is --—--=---—-

The longest chord of acircle is

The cube has faces.

The symbol ~ is used to represent — tnangles

Say true of false. ;. Y -

0 is the smallest rational number( ) ‘ : X : A% 1
The square root of 225 is15. ( )} % L : : \
27y® + 3y = 9y . "‘g \

The co-ordinates of the origm are (15 1) ()

Loss or gain percentage is always calculated on the seilmg pnce ( ) R kg
Match the following. . 0

5x1=5 :

5x1=5

‘ o 5x1=5 °
- Area of a circle - Ya ﬂr’w ; & 3

Circumference of acircle
Area of the sector of a circle
Circumference of a semi circle

(m+ 2)“:% y | Ny
nr2 ]
2nr.
(o]
Area of a quadrant of a circle X\-:faoox 2 ey
! - PART.-II L
Answer any 10 of the following. (Q. No 40 Compulsory) ' \, (3 {

Find a rational number between % and 5

10x2=20
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=11 o =1 24
27. Evaluate: i) 7 1 32 -3 ii) 57 X 38
28. Find the value of V256.
29. Simplify (3% + 3%)* x 3 "
30. By how much does (1071) exceed -(—J-Q-)

A circular shaped Gymnasnum ring of rad:us 35cmis dlwded into 5 equal arcs shaded with different

colours. Find the length of each of the arcs.
' 32. Acircle of radius 70 cm is divided into 5 equal sectors. Find the area of the sectors.
33. Find the product of 2x2 y2, 3y%z and -z
3m 2m* :
34. Simplify : - 1
35.  Find the value of (3a + 4c)? by using (a+b)2 Identify.
36. Whatis 25% of 30% of 4007

37. Ifx% of 600 is 450 Then find the value of x.
38. The value of motor cycle 2 years ago was <. 70, 000 it deprecnates attherate of4% p.a. Find its present

value. -
39. Can aright triangle have sides that measure 5 cm, 12cm and 13cm? -

40. Is 108 a perfect square number?

31.

PART -1l . *°

VI. Answerany Seven questions. (Q. No.50 Compulsory.)
41— Arrange the following rational numbers in ascending and decendlng order

= =11 15 -7 12
12 "8 24' -9 ' 36
i ifv A = -_3. ;§ _‘.3—0- 1..2_. -..2_7.
42.ASImp_I|fy.[3 (2)]+[3 : 12]+[9 X 16}
43. Whatis the square root of Cube root of 466567

44T P +2q = 18 and Pq = 40, Find—‘; 4% <

457 Find the least numbers by which 1800 should be multiplied so that it becomes a perfect square number.
Also find the square root of the perfect square thus, obtained.

" 46. Findthe Area of the given figure.

Radius r= 3.5 cm. //,,;;

X Y /
] LJ, )

' - Tx5=35

47~ Multiply: (2x+5y) and (3x-4y). -
48. Find the quadrats without plotting the points onagraph(3 4),(2,0)(-7,-3), (5, 2).

49. Find the C.! for the data Principal = Rs 4000, r = 5% p.a, n =2 years.
50~ Divide : (5y*- 25y + 8y) by Sy .. = ' i
" - PART-IV .
y! 2x10=20

Vil. Answer the following. /-
51. @)+ Constructaquadrilateral DEAR,with DE = 6cm EA= 5cm AR=55cmRD=52cmand DA=10cm.

Also Find its area. A(OR)/ ~
Construct a quadrilateral NICEwithNI=4.5cm, IC = 43cm NE=3.5cm,NC=56.5cmandIE=5cm.

b)
" . Also find its area.

52. a) Drawa straight line by joining the ponnts A(-2,6) and B (4, -3)
' (OR)

b) |fthe points P(5,3), Q(-3,3), R(-3,4) and ‘S’ from a rectangle then fi nd the co-ordinate of S,
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